TOENAIL WITH 1-i6d
GALVANIZED NAIL ON

FLOW L|NEW

6 X8 XI'-2"D.F. BLOCK

v
©

N
FRONT ~&*

BACK
TUBULAR STEEL BLOCKZ

6 X6 x3/16 x1'-2"
GALVANIZED TUBULAR
STEEL BLOCK

. >xsm" DIA. HOLES

TUBULAR STEEL BLOCK

BACK-UP PLATE BETWEEN
RAIL ELEMENT AND POST

\%
SECTION (B)

EACH SIDE OF THE i RAIL SPLICE
BLOCK - 6 x8 xr-2" = =T
x | Db.F. BLOCK
© -
kl@ PLAN l_>
i POST| AND
5/8" DIA. | FLAT PLATE
CARRIAGE BOLT _ 4 WASHER sLot
WITH FLAT PLATE GROUND LINE, &
WASHER AND HEX SHOULDER SURFACING
NUT AND WASHER— OR TOP OF CURS UNDER | -
RAILING : 6'-3" c-¢C N
C —
< | =1 RE
SE— # |J@ | LAPIN DIRECTION OF TRAFFIC | rrlﬂ; L
| * [hdl] ! [
6 X8 x5'-4" .
OF POST—__| ,‘ 84 T TRAFFIC ,
L | L
N | N e i
N L—-d ’ ~—6 X8 D.F POST l
PN —aAd
3/4" DIA. HOLE ELEVATION T
7 _TYPE |
WOOD POST

POST RAIL SPLICE
RN g
TUBULAR ' L . |
STEEL BLOCK
) PLAN
: FLOW LINENZ/ AN
e \ __/_
z oy 6'-3"Cc-C
SRE S .
5/8" DIA. ; [> l l
\sl?'lBHR:’AL‘i\ET%OL'i'rTE I a GROUND LINE I r[—: }r—|1‘ 1
_ ) ol e .
WASHER AND HEX V/ /’— SHOULOER ~_ % |3j@i2} LAP.IN DIRECTION OF TRAFFIC | o | +
-3 o ’ ]
NUT AND WASHER I AR 3R ! it nE
. I \ UNDER RAILING W
%%ZERETE W ’ ! W TRAFFIC . !
" L___I/ ANZEm? i T ] ‘ RERNL VY
5" DIA. STANDARD .
GALVANIZED STEEL A | 1 IX . | N
IPE 5'-0" L = M
« ELEVATION
L4 e ryees S ELEVATION ,
o " PIPE POST

DEPARTMENT OF PUBLIC WORKS

BUREAU OF ENGINEERING

CiTY OF LOS ANGELES

METAL - BEAM

STANDARD PLAN

DESIGNED B DRawWN BY CHECKED 8Y

RGC |- RGM RGS

SUBMITTED o 7/_0_.990_ - REVISIONS SUPERSEDES | REFERENCES
.ﬂf'_"_":ﬁzéms S NO DESCRIPTION B-3993
S B ‘ 7 [CRANGED DIMENSION LEADER OF "W™, ADDED DIMENSION B,
B et 2 — DELETED HEIGHT CALLOUT OF GUARDRAIL, CHANGED CONCRETE
DEPUT ENGINEER CALLOUT, CHANGED STEEL POST CALLOUT; CLARIFIED DETAIL 8,
. (s ¢7 199 CHANGED DIAMETER OF CONCRETE EMBEDMENT, DETAIL i6;
A”Rodwfgfﬂ __42 <« REVISED NOTES T, 9F, 4A, AND [2. A N 7 AND 14,
7 CIIVENGINEER |

RENUMBERED NOTES. AQDED SHEEIi SAND 6, ADOED
DETAILS i7AND 19. REVISED SOME DETAIL TITLES.

VAULT INDEX NUMBER B-4107

SHEET | OF

9 SHEETS

C=7




jo——FLOW LINE

BACK UP PLATE BETWEEN
RAIL ELEMENT AND BLOCK

wex9oxi'-2*

GALVANIZED STEEL BLOCK
(EACH BLOCK TO BE
ATTACHED TO POST WITH
TWO 5/8°DIA. X | 172"

HEX. BOLTS)
R\ Zara W‘r--“/—&‘
I ]
| \
| “ j
e
T _ \ /
RE \ /
A Lo

’

T

w6 x9 % 6-0"
GALVANIZED STEEL
POST :

SECTION ( C)

i y ]

!

Ol

5 = ul

K :II

g lgel

-« —'—V——— J",.
l! i

!

il

g

SIDE FRONT

NOTES:

ALL HOLES 3/4" DIA

2. RAIL MOUNTS TO BLOCK WITH BOLT ON
APPROACHING TRAFFIC SIDE OF BLOCK
AND POST WEB

3 BLOCK MOUNTS TO POST WIiTH 2 BOLTS
STAGGERED LOWER BOLT ON APPROACHING
TRAFFIC SIDE OF BLOCK AND POST WEB

W6x9 POSTS SHALL BE DRIVEN
WITHOUT PILOT HOLES.

| T— RAIL SPLICE

WITH FLAT PLATE WASHER, SEE
NOTE 2 BELOW

GROUND LINE, TOP OF CURB, OR SHOULDER

./ SURFACING UNDER RAILING

6'-3" ¢c-C

z A\
~ p = T 3
- T \n Al K
—1 1 * T 1
— ST
© TS~ 5/8" DiA. CARRIAGE BOLT PLAN >

BACK UP PLATE

:

0

0

e
0ot
IS

> LAP IN DIRECTION

b

~d

—_—

j
- . OF TRAFFIC T
= | = ﬂl
TRAFFIC
@
7 \'¢ H N2 7
i W A
|1
ELEVATION
Ilc?ﬂ TRAFFIC
lJ [ FACE
e
1 1/8" 11/8"
T T Y
H ]
IS
- o
¥ S E
i S (R
il
SIDE FRONT SECTION ‘ : )
W6 X9 STEEL BLOCK W
TYPE 3

WWG X9 POST

STANDARD PLAN NO.

S-462-2

VAULT INDEX NUMBER B-4107

SHEET 2 OF 9 SHEETS




12 172"

5/8" X | i/4" o.08" NOMINAL THICKNESS 3/16" THICK
BUTTON HEAD Z 4 1ae ¢ /" SAME SECTION AS RAIL STEEL PLATE
OVAL SHOULDER i -——1 ELEMENT —DETAIL 6 2 |
BOLTS WITH 1 i/4" k OF POST, BOLT AND SLOT l / ’.._.
RECESSED HEX NUTS | | r—?—, Pl | . . +
TOTAL 8 PER SPLICE =T | L — 3/4'x21/2 =
AND 4 PER TERMINAL jf bg | . ! POST BOLT SLOT 11716 .
e 1R I DU T S
T | ~ : BACK-UP PLATE 51._4_.. »
s = _ FOR USE AT POSTS = 1 -
< N B o
- T ? T |
/4" x 2 172" SLOT —J—J}r—L A 29/:_sr§"x| /8 QSBRL::EL: T
DETAIL | DETAIL 2 3
RAIL SPLICE BACK UP PLATE DETAIL 3
FLAT PLATE WASHER
3 MIN, /\>’d 2-3"¢ '
¥ 0.108" NOMINAL )
' 12 172" LAP , THICKNESS 3 /4" TOLERANCE
0.108" NOMINAL Tuucxuess>/ , ° Vg . \ +90
E Q
< <4\ B ° -
2 /4" 8 172"
< g 7 PLAN
2'-0" ¢
P_LA_N 29/3"x 1 178" 117732"
61/4" su:ns —
29/32°x | 1/8 R=1"TO 2 172" TYPICAL N IS/I6"R sy e
2* | avalava" = % [‘ ABOUT
o ®°
® 0.108"
= NOMINAL
. / ; i 4 L . THICKNESS
4 - i L +— SPLICE
o \ * l i =8 ~ SLOTS
W a = \
=\ )
SAME A%RI-\ILT o 3/4"x 2 1/2° Eaa——
ELEMENT SECTION ~q— 347 DETAIL 6
oy DETAIL 4 ey SECTION THRU
_TYPE A TERMINAL SECTIONS —YPE 8 RAIL ELEMENT
15/16" DIA X 1n6"
DEEP RECESS € X8 D.F POST GROUND LINE
ONE OR BOTH _
SIDES —- . P
- 7/8"DIA. BOLT @ 4" i
C-C WITH HEX NUTS =
AND WASHERS . . g
\___ <
PLE"X 3/8"X I'-0" — '@ Mo g
L6 X 4"X1/2"x 0'-6" ._J: - 5
DETAIL 5 HEX NUT WITH = = (S z
. _— CUT WASHER . s
5/8 DIA.  RECESSED NUT L <
¢ - A
<4 . P
sne' - .
- 3/16° GRIND TOP OF EXIST CONC.

DETAIL?

5/8" DIA. BUTTON HEAD BOLT

FOOTING SMOOTH OR LEVEL
WITH GROUT PAD AS REQUIRED

21/2"

DETAIL 8
WOOD POST-FOOTING CONNECTION

2-7/8"X 7" CONTINUOUS
THREADED ROD @4"C-C
EPOXY ADHESIVE IN

| 174" X 5" HOLE

TO EXISTING CONCRETE SLAB

MISCELLANEOUS DETAILS

STANDARD PLAN NO.

S-462-2

VAULT INDEX: NUMBER 8-4107

SHEET 3 OF 9 SHEETS




PL 1I72"X 3" X 2 3/42

HEX NUT FOR
1" STUD

- swomqm

11716" DIA. HOLE FOR
5/8" DIA. BOLT

|"'l|lll

i 1716" DIA. HOLE
IN 1/2" PLATE —/

DETAIL 10
ANCHOR PLATE DETAILS

”|n ! .T,.-.l |
l'||”

L

STANDARD SWAGED
CONNECTION FOR
= 3/4" CABLE PER

~  DETAIL l)l

s

{ SEE DETAIL 10

- ANCHOR PLATE,

1" DIA.X 7" LONG STUD ! |s{§1 S 16"
THREADED ENTIRE A P
LENGTH . . 8
3/8 - ; o l37e 3
TR R ___3
©
> 3/4" CABLE TO BE
- SWAGE CONNECTED
DETAIL 1

SWAGED FITTING AND STUD

/POST (TYP)

-~

BLOCK (TYP)

I

00-C-2500
CONCRETE ANCHOR

6-3" c-¢C

5 6"

2"

pre—

z
@ T
~

6t

1

|
T
A

i
-+~

578" MACHINE BOLTS
T __WITH CUT WASHERS ON

\FRONT FACE. TOTAL 8 |

\

ANCHOR PLATE

3/4" CABLE>\

E
l

@TERMINAL SECTION
TYPE “A" OR"B"

COAT BURIED PORTION

OF ROD WITH 20 MIL
THICKNESS OF TAR

ENAMEL OR COAL TAR

EPOXY
7/

GALVANIZED ROD CENTER LINE TO
COINCIDE WITH AX1S OF ANCHOR CABLE’ 7

NOTES:

CABLE TO BE PARALLEL TO GUARD RAIL
FOR STRAIGHT RUNS OF RAIL. IF GUARD

1S CURVED, CABLE MAY HAVE ANGLE

POINT AT ANCHOR PLATE

PL 174" TO FIT BENT-

1/4™ PLATE

A

L]
~N
>

_B

/74

11716" DIA. HOLE

FOR 5/8" DIA BOLT,

TYPICAL -

SECTION ‘: )v

BN LE N (<4

WOOD POSTS SHOWN-DETAIL SIMILAR
FOR PIPE OR W68X8.5 POSTS

DETAIL @

%

METAL BEAM
GUARDRAIL

CABLE ANCHOR—FIXED

——5/8" DIA. MACHINE BOLT
WITH CUT WASHER AND
HEX NUT, TYPICAL

I'-6" Z|x
. WIN. DA, | Z|2
SEE DETAIL 12 Al B W[
i
- T o
1 174" X 4'-6" GALVANIZED LY f
STEEL ROD WITH FULL ;
PENETRATION WELDED ||—
OR DROP FORGED l -
172" EYE | F .
| 9
4 TIES L -
TOTAL 4, EQUAL
SPACING ! 2" MIN
I
W'G 4'- 7"LONG § JE .-
AR | T
' “\vn i A\ 4§ 4
-0t

CL

(/‘
PLACE AGAINST UNDISTURBED
EARTH

IP SPACING 4 1/2"C-C

THIMBLE

"U" BOLTS OF CLIP ON SHORT END OF CABLE ONLY
'U" BOLTS TIGHTENED TO SO FT. LBS. TORQUE

DETAIL 12

CABLE CLIP INSTALLATION

GUARDRAIL ANCHORS

STANDARD PLAN NO.

S-462-2

VAULT INDEX NUMBER B-4107

SHEET 4 OF 9 SHEETS




TRiM POST TO FIT,

5/8" DIAMETER CARRIAGE
BOLT WITH HEX NUT AND
CUT WASHER.

6x8x5'-4" D, F POST.

OMIT BLOCK. -\

6x8x5~4"D.F POST. OMIT BLOCK.

TERMINAL SECTION
TYPE “C”

g
\‘_-<

CONCRETE ANCHOR

CONCRETE ANCHOR

6'-3" ¢c-C ]
: 5/8" DIAMETER MACHINE
| ~0" | r-a BOLTS WITH CUT WASHER
ON FRONT FACE. TOTAL |
8- 11/16 DIAMETER HOLES
SEE NOTE 3 BELOW, '2_-_ |alar] |2 I'-6" &
X ! | — f e | PL5/Bx8x0'~8" END Pos
- ~SEE NOTE Iy 6x8x5'-4"
s ALN A g2t L— | K 3 BELOW (SEE NOTE | BELOW) O.F
I qfc::gf’\\\\\ - 1
S 1
\
2 3/8°DIA HOLE ____ Ly PLATE " SEE DETAIL 10 || cur wasties
=== 4" 2°STD, GALV. PIPE . : .
» _L-GROUNDLINE /4 CABLE }_~12.375°0.0.) Ee
——\mv T T -] ;--11l Wy T—?. Salm] B2 o anund XU R
oy Hob=di j». I'-6"DIA, CONCRETE BASE ﬁ;‘::.—‘]{‘:)l Lo,
- T {TWO POSTS ONLY) i 6x6-3/3
" L ..-.“:-J’/ St _L—ll‘— WELDED WIRE FABRIC
|
TYF. FORM SOCKET IN CONCRETE TO RECEIVE
6x 8 POST OR PLACE CONCRETE AROUND
6% 8 POST WRAPPED WITH | LAVEROF /2 INCH
DETAIL 18 THICK EXPANDED POLYSTYRENE FOAM
CABLE ANCHOR'BREAKAWAY SHEETING. DO NOT NAIL FOAM TO POST.
NOTES:

1. 6x 8 D.F POSTS SHOWN. W6 x |5 ALTERNATE SIMILAR, EXCEPT THAT 2-INCH STANDARD PIPE SLEEVE IS
NOT USED AND A PL 5/8 x 4 x 0'-4" SHALL BE USED AT THE 3/4 INCH CABLE END.

2. POSTS SHALL BE CENTERED IN CONCRETE BASE.

3. OMIT WASHER UNDER HEAD OF RAIL MOUNTING BOLT FOR END POST AND NEXT TO LAST POST.

STANDARD PLAN NO. S-462-2

VAULT INDEX NUMBER B-4107 | SHEET S OF 9 SHEETS




29/32" x t 178" SLOTS
FOR SPLICE BOLTS

TERMINAL CONNECTOR

P _bemddrast ||
i
2|/4";

(_U"RADIUS “"_! 41 '
RETURN SECTION. J2 /4 . 18

2"

1

e

OPTIONAL DESIGN TERMINAL SECTION &
TYPE "C"

( 29/32"x 1 1/8" SLOTS

3/4" DIA. HOLE

© .
I 2 NEUTRAL AXIS
[~d L @ " /
—

16"

0.108" NOMINAL
THICKNESS

=
ELEVATION &/ — 228

0.108" NOMINAL

. / THICKNESS
2'-86
3" 8 1/2" [ 2"
\ —————:i = | pd
-—— B — - —  q-14 -
o
: o
A
Zzs/sz"x 3" SLOTS 3/4" DIA. HOLE

[ T~BEND CORNERS,
TWO

TERMINAL CONNECTOR &/

o T |
L‘ﬂ". ‘ 18" ] L—E
PLAN

TERMINAL SECTION TYPE "C" &

GUARDRAIL ANCHORS ¥/

STAN DAéD PLAN NO. S-462-2 VAULT INDEX NUMBER B-4107 | SHEET & OF 9 sr-‘uzr-:rs




NOTE

ANCHOR ROD HOOKS TO BE IN CONTACT
WITH ANCHOR REINFORCEMENT WHEN
“ CONCRETE IS PLACED. WIRE TIES MAY
6 8E USED TO POSITION ANCHOR ROD.

£ ANCHOR
ASSEMBLY

S 114" x 46"

6
" MAX.

S 7PL1/2 X5X0'-5"

CENTER 1'5/16" DIA. "
HOLE FOR ROD - z ‘—— — r
\ . i . e
A . 1-1/4" DMESD \
.8 — GALV.R \

= - L L
1-174" DIA. - .

GALV. ROD . ¢ . PLIZX5X0'-5"
- . CENTER 1-5/16" DIA) <~ HEX HEAD NUT

W '; - . HOLE FOR ROD

DETAIL I3
OPTIONAL ANCHOR ROD END DETAILS

P

7I
| 778" 1 5/8" 15/8" | /8" }g
. A M 4
i N e
PL 174" s bl —t— —-4—-3w
—— O
1 174" DIA. HOLES \
DETAIL 14 g
PLATE WASHER
SPLICE BOLT
6'-3" ] (4 REQUIRED)
“ GROUND LINE

BACKUP PLATE-SEE DETAIL 2,
DRILL AS NEEDED

'PLATE WASHER PER DETAIL 14

"X 2"H.S. BOLT,
HEX NUT AND CUT
WASHER

—BACK-UP PLATE
™

PLACED AGAINST ’'—g"
UNDISTURBED
EARTH MIN. DIA.

SECTION ® -
DETAIL IS ng

BURIED POST ANCHOR
GUARDRAIL ANCHORS

'STANDARD PLAN NO. S-462-2 VAULT INDEX NUMBER B-4107 | SHEET 7 OF 9 SHEETS




27 NOTE
SEE PROJECT PLANS FOR D2 DIMENSION WHEN

SLOPE CONDITIONS ARE
THAN 2'-0".

w
Y@rmw LINE ‘

SUCH THAT Di IS GREATER

- -
D R
-— — = - ___pA,,
37 TOP OF CURB OR BERM; EDGE OF PAVEMENT
OR BACK OF WALK WHERE NO CURB OR BERM
EXISTS \ @
o>
[T T
\ fe——TYPE1,20R3 "2
I I \ LS GUARDRAIL POST
LN~ ’ ) _'0.'|
7‘ ~. \ T '\ & oo
W6 x9 GALV. STEEL ' L | v .
POST AND BLOCK PER )Y - %
TYPE 3 DETAILS | | g 3
| AN [y I Ys 1);\*5 o
le—FLOWLINE | l /‘\‘/‘m N
PLI/A X 2 1/2X2 1/2 —|— . A ,-4| | N 3
WASHER AND NUT o S \
8 2] |- B
N N
—p— 1 | Y EN
d e LN
TOP OF CURB OR |BERM;|EDGE OF | | N
BASE PLATE :
it LR SR 2
ON PILE) ! | - le—— concreTe easE <
9 /- HINGE POINT / I I PR
z < I ; g %
Rl 172" TYP | _ ¥
vg N | | @ ole
A b | . = "
T %\ ] sl e Nl 3 é
—I'I :F:T b T T TN o
1 wapl
ot s J{ | - f
” /
EQUAL SPACING \_ . o lsou o \// g 2 5 5t 2 178
PE'.‘I P°ﬂ"_ _\ " DIAMETER T 1T 1A
e ———#6 TOTAL 6 DETAIL 16 A 4]
V I SLOPE INSTALLATION Wl ' s
TYPE S-1 ¥ INBRRBE
L . - 1
— s | R [T
-0" MIN, Z-0" DIA. CAST- IN-DRILLED - HOLE
CONCRETE BASE 30|37
DETAIL I7¥/ DETAIL 1977
SLOPE INSTALL ATION-TYPE S-2 BASE PLATE PLAN

STANDARD PLAN NO. §-462-2

VAULT INDEX NUMBER B-4107

SHEET 8 OF 9 SHEETS




13,

v,

4,
5.

MIES

UNLESS OTHERWISE NOTED IN THE PROJECT PLANS: DIMENSION W SHALL BE 2", 8=I'-9" MINUS CURB FACE HEIGHT, OR

B=i'-9" IF NO CURB OR if W> 3'-0".
THE ENDS OF ALL GUARDRAIL INSTALLATIONS SHALL BE ANCHORED AT BOTH ENDS,
TYPE 1 GUARDRAIL POSTS AND BLOCKS:

A. WOOD POSTS AND BLOCKS SHALL BE ROUGH SAWN DOUGLAS FIR NO. 1, FREE OF HEART CENTER, PRESSURE TREATED WITH
AMMONIACAL COPPER ARSENATE. .

B. BEFORE THE BOLTS ARE INSERTED IN WOOD POSTS AND BLOCKS THE HOLES SHALL BE FILLED WITH A GREASE, RECOMMEWDED
BY THE MANUFACTURER FOR CORROSION PROTECTION WHICH WILL NOT MELT OR RUN AT A TEMPERATURE OF 1500F,

TYPE 2 GUARDRAIL POSTS AND BLOCKS:

A POSTS SHALL BE GALVANIZED STANDARD STEEL PIPE CONFORMING TC ASTM DESIGNATICN A 53.

B. BLOCKS SHALL BE GALVANIZED STEEL STRUCTURAL TUBING CONFORMING TO ASTM A 501.

TYPE 3 GUARDRAIL POSTS AND BLOCKS SHALL BE GALVANIZED STEEL CONFORMING TO AS™M DESIGNATICN A %6.
GUARDRAILS SHALL BE TYPE | UNLESS OTHERWISE NOTED GN THE PLANS.

CABLE ANCHORS EXPOSED TC APPRGACHING TRAFFIC SHALL BE THE BREAKAWAY T(PE PR DETAlL 16 UNLESS « THERW .SE
NOTED ON THE PLANS.

ALL PLATES SHALL BE GALVANIZED STEEL CONFORMING TO ASTM DESIGNATION 4 36.

A CABLE ANCHOR ASSEMBLY SHALL CONSIST OF A CABLE ASSEMBLY ANL ANCHOR PLATE.
A. ANCHOR CABLE SHALL BE MADE OF PLOW STEEL WITH A MINIMUM BREAKING STRENGTH OF 23 TONS. [T SHALL BE 3/u4-INCH PRE-

FORMED, 6 X 19, WIRE STRAND CORE OR INDEPENDENT WIRE ROPE CORE (IWRC), GALVANIZED IN CONFORMANCE WITH FEDERAL
SPECIFICATION RR-W-410C, RIGHT REGULAR LAY, TwO CERTIFIED COPIES OF MILL TEST REPORTS OF EACH MANUFACTURED CABLE
LENGTH SHALL BE FURNISHED TO THE ENGINEER. THE OVERALL LENGTH OF EACK CABLE ANCHOR ASSEMBLY SHALL BE AS REQUIRED
BY THE PLANS, BUT SHALL BE A MINIMUM OF & FEET-6 INCHES. -

B. THE SWAGED FITTING SHALL BE MACHINED FROM HOT-ROLLED BAR STEEL CONFORMING TO AISI DESIGNATION C 1035 AND SHALL BE
ANNEALED SUITABLE FOR COLD SWAGING. THE FITTING SHALL BE GALVANIZED BEFORE SWAGING. A LOCK PINHOLE ADEQUATE FOR
A 1/4-INCH PLATED SPRING STEEL PIN SHALL BE DRILLED THROUGH THE HEAD OF THE FITTING TO RETAIN THE STUD IN PROPER
POSITION. THE MANUFACTURER’S IDENTIFYING MARK SHALL BE STAMPED ON THE BODY OF THE FITTING.

C. THE ONE-INCH-DIAMETER STUD SHALL CONFORM TO ASTM DESIGNATION A 449 AFTER GALVANIZING. PRIOR TO GALVANIZING, A
3/8-1NCH SLOT FOR THE LOCKING PIN SHALL BE MILLED IN THE STUD END. THREADS SHALL HAVE ANSI CLASS 24 FIT BEFORE
GALVANIZING. STUD NUTS SHALL CONFORM TO ASTM DESIGNATION A 325. AFTER GALVANIZING, THE PITCH DIAMETER OF THE
NUT AND THE HEAD OF THE SWAGED FITTING MAY BE TAPPED QVER ANST Bl.l CLASS B TOLERANCE BY 0,023 INCH MAXIMUM
OVERSIZE,

D. THE SWAGED FITTINGS, STUD AND NUT ASSEMBLY SHALL DEVELOP THE SPECIFIED BREAKING STRENGTH OF THE CABLE.
E. THE CABLE ASSEMBLIES SHALL BE SHIPPED AS A COMPLETE UNIT, INCLUDING STUD AND NUT.

F. ONE SAMPLE OF CABLE PROPERLY FITTED WITH SWAGED FITTING AND RIGHT-HAND THREAD STUD AT BOTH ENDS AS SPECIFIED
ABOVE SHALL BE FURNISHED TO THE ENGINEER FOR TESTING (LENGTH =6'-0%).

THE STEEL PLATES FOR THE ANCHOR PLATE SHALL CONFORM TG ASTM DESIGNATION A 36. BOLTS AND NUTS SHALL CONFORM TO ASTM
DESIGNATION A 307, THE ANCHOR PLATE SHALL BE GALVANIZED AFTER FABRICATION.

CABLE CLIPS SHALL BE COMMERCIAL QUALITY DROP FORGED GALVANIZED STEEL. THIMBLES SHALL BE COMMERCIAL QUALITY,
GALVANIZED STEEL.

THE ANCHOR RODS SHALL BE FABRICATED OF STEEL CONFORMING TO ASTM DESIGNATION A 36, A 441, A 572 OR A 576, GRADE ‘1018,
1019, 1021 OR 1026. THE EYES SHALL BE HOT FORGED OR FORMED WITH FULL PENETRATION WELDS. ANCHOR RODS WITH EYES THAT
HAVE BEEN FORMED WITH ANY PART OF THE EYE BELOW 15000F DURING FORMING OR WITH EYES THAT HAVE BEEN CLOSED BY WELDING
SHALL BE THERMALLY STRESS RELIEVED PRIOR TO GALVAMIZING. THE COMPLETED ANCHOR ROD, AFTER GALVANIZING, SHALL DEVELOP
A TENSILE STRENGTH OF 50,000 POUNDS MINIMUM.

COAL TAR ENAMEL SHALL CONFORM TO AWWA STANDARD C 203. COAL TAR EPOXY SHALL CONFORM TO MIL-P-23236, TYPE I, CLASS 2,
CONCRETE SHALL BE CLASS 500-C-2500.
MATERIALS NOT SPECIFIED SHALL BE PER THE STANDARD SPECIFICATIONS FOR PUBLIC WORKS CONSTRUCTION.

STANDARD PLAN NO. S-462-2 VAULT INDEX NUMBER B-4107 | SHEET 9 OF 9 SHEETS




